Radley, $20,000; Smithers, $28,000
) b. Radley, $21,000; Smithers, $27,000
) c. Radley, $24,000; Smithers, $24,000
. d. Radley, $32,000; Smithers, $16,000




‘ fcred‘ t to ShCIdI, Capital for $315, 000
_' €. debit to Cash for $210,000.
O d. debit to Mazen, Capital for $315,000.

The correct answer is: debit to Wasem, Capital for $105,000.




The partners share income and losses in the ratio of 60% to Felton and 40
Sanfos invests $240,000 in the Partnership for a one-third (1/3) inferés’r in
Capital.
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nd Mcher $50, 000 The firm is liquidated., and $265 000 in ccs" 3
s ‘noncash assets. Rami, Ahmed, and Maher income sharing ratios are !
and 15%, respectively. 2N

Required: At the end of the liquidation process.

how much cash will Rami rec

(Note: wrife your answer as a number only, with no commas or dollar signs)
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come sharing rati

The correct answer is the basis of in

new partner.

r invests noncash assets in @ por’rnership, the as

when d partné

MR



copn’rol balcnces of $280,000 and $245,000, respectively. Parks is adm i
 partnership by investing $245,000 for a 30% capital interest. The occoun’r'
Ollinger, Capital after the admission of Parks would be

© a. $245,000.
b. $238,000.
$231,000.

d. $252,000.




The comrect answer is: $81,000.




1‘ d. allocation of a capital deficiency to pdrfnéfs with Cfé&itbdib
the deficient partner is expected to pay the deficiency. e

The correct answer is: allocation of a cdpi’rol deficiency to partners with cfej, “
balances when the deficient partner is expected to pay the deficiency.



(No’re write your answer as a number only wn‘h no commas or dollar sug 1S

Jy,aa)ul ,i_j.anja,p‘mas)su\p\msm)\

wer: 190000 v

L answer is: 190000



they will share income and Iosseé according fo the time devote
business. el

there really is no partnership agreement

they will share income and losses equally




$237.500
0 b. $250,000
) c. $240,000

d. $325,000




